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[ Level-1/1101]

1.

Which training is not necessary for
teaching-learning of hearing
impaired students ?

a. Lip reading

b. Signlanguage

c. Braille-script

d. Motor training

1) aandb

2) bandc

3) candd

4) aandc

When the moral development of a

child is based on the desire to be

declared a good boy or a good

girl, then what is this morality

related with ?

1) Individualism and Exchange

2) Obedience and Punishment

3) Social contracts

4) Good
Relationships

Interpersonal

Which of the following statement
does not correctly explain the
acquired motives ?

1) They are not innate
2) They are universal

3) They are not essential to

survival

4) They affects learning
P.T.O.
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4. Who coined the term 'Mental age' ?
1) Binet 2) Stern
3) Terman 4) Wechsler

5. Which of the following act of the
teacher blocks the potential of
creative child ?

1) Encouragement for divergent
thinking

2) Insistence on conformity to the
ideas of others

3) Freedom for expression of
ideas

4) Motivation for innovation

6. Which of the following intelligence
tests is a non-verbal intelligence test ?

1) Army-alpha Test

2) Raven's Progressive Matrices
Test

3) Binet-Simon Test

4) Jalota General Mental Ability
Test

1. The evaluation done for the
purpose of improvement through
feedback during the instructional
program is called as :

1) Summative
2) Diagnostic
3) Systematic
4) Formative
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What type of learning is the basis
of Pavlov's learning theory ?

1) Conceptual
2) Conditioned
3) Insight

4) Imitative

Which name of late childhood does
not refer to the influence of peers
in the process of socialization ?

1) Gang-age
2) Age of conformity
3) Play-age

4) Transitional age

Which of the following factors
negatively affects learning ?

1) Practice
2) Will Power
3) Motivation

4) Fatigue

Which of the following factors is not
included in the hereditary factors
affecting individual differences ?

1) Physical Structure
2) Intelligence

3) Aptitude

4) Attitude

P.T.O.
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14.

15.
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What type of motive was used to
learn a specific behaviour in
Thorndike's learning experiment
on cat ?

1) Biological motive
2) Social motive
3) Extrinsic motive

4) Environmental motive

Which of the following is not an
appropriate social behavioural
characteristic of late childhood
children ?

1) Cooperation

2) Sympathy

3) Empathy

4) Ego-Centrism

Development is a process begins
from:

1) Conception to Maturity

2) Birth to Maturity

3) Conception to Death

4) Birth to Death

Which teaching-learning method is
not included in a child centered and
progressive education ?

1) Project
2) Problem solving
3) Lecture

4) Experimental
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Which of the following is not an
extrinsic motive ?

1) Approval

2) Power

3) Achievement
4) Rest

Which teaching-learning strategies
will be important for an inclusive

classroom of students with

different needs ?

a. Multisensory Teaching

b. Cooperative Learning

c. Peer Tutoring

d. Team Teaching

1) a,bandd 2) bandc

3) aandd 4) a,b,candd

Which of the following educational
arrangements should be made for
talented students ?

1) Acceleration

2) Remedial Teaching
3) Reading Practice

4) Speech Therapy

According to the Vygotsky the
speech which is directed to the self,
that is known as :

1) Social speech
2) Private speech
3) External speech

4) Interaction speech

P.T.O.
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Which psychologist rendered the
concept of 'object permanence' in his
cognitive development theory ?

1) Piaget

2) Vygotsky

3) Bruner

4) Kohlberg

'The satisfactory effect of a task
affects the learning of that task.’'
Who propounded this law of

learning ?

1) Pavlov

2) Thorndike
3) Skinner

4) Watson

Which of the following statement is
not correct in context of

development ?

1) Development involves

functional changes.

2) Developmental pattern is

predictable.
3) All children develop the same.

4) Development proceeds from

general to specific.
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Which of the following statements
does not indicate the importance
of spaced method of learning ?

1) Learning doesn't get tiring

2) Memory traces not consolidate
3) Maintains interest in learning
4) No mental boredom

Which of the following is not a
form of essay type question ?

1) Descriptive 2) Analytical
3) Recognition 4) Critical

In which learning disability, the
following intervention programs are

suggested ?
(A) Efforts for linguistic
comprehension

(B) Drill for spelling correction
1) Dyslexia

2) Dysmagnisia

3) Dysgraphia

4) Dyscalculia

Which of the following statement is
not correct regarding learning ?
1) Learning is a change in
behaviour through practice.

2) Learning occurs as a result of

experiences.

3) Learning is relatively
permanent change in
behaviour.

4) Learning is a change in

behaviour due to maturity.

P.T.O.
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A child has to learn a lesson by
dividing it in several sections as per
his convenience. Which is this
method of learning ?

1) Whole method

2) Massed method
3) Part method

4) Incidental method

'Zone of Proximal Development
this concept is coined by which
psychologist ?
1) Erikson

3) Kohlberg

2) Vygotsky
4) Piaget

According to Gagne learning
model, which type of learning will
not be required before any
concept learning ?

1) Chain Learning
2) Rule Learning
3) Signal Learning

4) Discrimination Learning

90-110 range of I.Q., represent
which intellectual category ?

1) Average
2) Below Average
3) Above Average
4) Superior

[ Level-1/1101]
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P.T.O.
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46.

41.

48.

49.

Choose the correct prepositions
for the blanks :

He has been living ........... Calcutta
........... last three years.

1) 1in, since
2) in, for
3) at, for

4) into, since

I met Mr. Shah at .......... U. S.
airport.

1) a 2) an

3) the 4) zero

Choose the correct option to fill in

the blank :

You are ............ among criminals.
1) meaner

2) meanest

3) meanly

4) most meaner

Choose the correct one word
substitution :

A disease that spreads over a large
area.

1) effeminate
2) germicide
3) epidemic
4) illicit

[ Level-1/1101]

50.

51.

52.

53.

The word 'pious' means :
1) religious and moral
2) worthless

3) liberal

4) traitor

Choose the correct option to fill in
the blank :

He ............ his sister more than
anyone else.

1) love

2) isloving

3) was loving

4) loves

Choose the correct sentence :

1) He break her heart by turning
down her proposal.

2) He Dbreaked her heart by
turning down her proposal.

3) He has breaked her heart by
turning down her proposal.

4) He broke her heart by turning
down her proposal.

Choose the correct option to fill in
the blank :

He ........... sleep after reading at
least 20 pages every night, when
he lived in hostel.

1) will 2) would
3) might 4) shall

P.T.O.
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54. Choose the correct tense form:

Look ! Here .......... the director of
the drama.

1) had come
2) have come
3) come

4) comes

55. Choose the correct option to fill in
the blank :

You will fail ............ you work very
hard.

1) nevertheless
2) howsoever
3) unless

4) beside

56. The synonym of Filthy'is:
1) weak
2) fluffy
3) dirty
4) strong

57. The antonym of 'adversity'is :
1) discord
2) prosperity
3) scarcity

4) misery

58.

59.

60.

GET IT ON
Google Play

The idiom - "To pay off old scores"
means :

1) To return capital without
interest

2) To have revenge

3) To live within one's initial
income

4) To refuse to pay one's loan

Choose the correct option for the
underlined word :

She is likely to come today.
1) Adverb

2) Adjective

3) Pronoun

4) Conjunction

Choose the correct option :
'Misanthrop'is :

1) Something imaginary

2) Something not based on facts
3) One who hates mankind

4) A calf for sacrifice

[ Level-1/1101]
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GET IT ON
Google Play

[15/A]

61.

62.

63.

64.

10 9onell a Th A Sgee @
Tt =AW B AT ©
1) 6xn 2) 8n
3) 10m 4) 12n

Tk Al 80 fbdl g & 7 "< #
T A &, 98 AR g0 8 Flt /e
H W F Y I I qw 16
Rl /e & & & o gl aRfed
q T FA L, @ a8 Yad bl gl
T ©

1) 28 fHHt 2) 30 fHA

3) 32 fHHt 4) 33

TH THE S @ o1 U SR @
ST & :

1) 2:1 2) 1:1

3) V3:2 4) 2:43

Uk Hbid IGYST & BN b AR G
i ag¥s o @ ¢

1) =T TgYS

2) oA

3) @

4) HAR YA

[ Level-1/1101]

61.

62.

63.

64.

The sum of all interior angles of a
regular polygon of 10 sides is :

1) 6=n 2) 8n
3) 10m 4) 12m

A man travelled a distance of
80 km in 7 hours, partly on foot at
the rate of 8 km/hour and partly on
bicycle at 16 km/hour, then the
distance travelled on foot is :

1) 28 km
3) 32km

2) 30km
4) 33km

The ratio of the side and height of
an equilateral triangle is :

1) 2:1 2) 1:1
3) J3:2 4) 2:43

The quadrilateral formed by angle
bisectors of a cyclic quadrilateral is :

1) cyclic quadrilateral
2) rectangle
3) square

4) parallelogram

P.T.O.
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[16/A]

65. Iix
tano— sino = n @, @ (m2 - nz)
TR 8

1) mn

3) 4J/mn
4) 2Jmn

tano + sinot = m aar

66. 3 &3 A 9B H AT 20, B q&1 C
GEel &1 NEd 19 1 C 9 A &
AFT 21 &, A H I & :

1) 24
2) 22
3) 20
4) 18

671. R fhdl f< AW F 'ACE' #I 1925
qT BIG &' '48149' fo@m o B, &

'DOG' &l IE HT AW § 1 foen
SR 7

1) 41549
2) 162259
3) 1622549

4) 1622249

[ Level-1/1101]

65.

66.

61.

GET IT ON
Google Play

If tano + sinot = m and
tana— sinoe = n, then (mZ - nz)
equal to :

1) Vmn

3) 4JVmn
4) 2Jmn

The average of two numbers A and
Bis20 and Band Cis 19 and C and
Ais 2]1. Then the value of Ais:

1) 24
2) 22
3) 20
4) 18
In a code language 'ACE' is written
as 1925 and 'BIG' is written as

'48149', then in the same language,

'DOG' will be written as :
1) 41549

2) 162259

3) 1622549

4) 1622249


https://applink.adda247.com/d/XhqWf9lSap
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68.

69.

10.

11.

1 @& 9ot & ST 9SS
T -

5, 10, 26, 50, 122, ?
1) 154
2) 162
3) 170
4) 178

G B T B
1) R

2) Fd

3) TSR

4) feAfear

gk A, BY 91X, C, D 4 &I, E, D
q 9 WG B Y e B, AN I A
g 9 BT 8 7

1) B
3) E

A 15 JEihl & A G, 20 JEihI
% fOpd 49 % SUSX ®, dl 'l
yferer ®

1) 20%

2) D
4) A

2) 25%
3) 30%

4 33l
3

[ Level-1/1101]

68.

69.

10.

11.

GET IT ON
Google Play

[17/A]

Find the next term of the following
number series :

5, 10, 26, 50, 122, ?
1) 154
2) 162
3) 170
4) 178

Find the odd one :
1) Major

2) Colonel

3) Admiral

4) Brigadier

If A is heavier than B, C is lighter
than D, E is heavier than D but
lighter than B, who among them is
the heaviest ?
1) B
3) E

2) D
4) A

If the cost price of 15 books is
equal to the selling price of 20
books, then the loss percent is :

1) 20%
2) 25%
3) 30%

4 331y
3

P.T.O.
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[18/A]

72. f=ifiad o &1 oFT U B

G4T, J9R, M20P, P43N, ?
1) S88L
2) S90L
3) S9OM

4) S88M

73. ABH AL BHTAC & W& T
D @1 @& @ E &, F, D & A g,
A AFD A F AT B ?

1) o
2) W
3) =N
4) fua

74. T% e g 9o H, PAGES' &l
'RDIHU' @1 'WRITE' &l 'YUKWG'
fer@r Sfrar 8, @ 'OTHER' & I€1 9190
4 fp vepR | forar swem ?

1) QW]JHT
2) QWH]JT
3) QWHT]

4) QWTH]

[ Level-1/1101]

12,

13.

14.

GET IT ON
Google Play

The next term of the following

series :
GA4T, J9R, M20P, P43N, ?
1) S88L
2) S90L
3) S90M

4) S88M

A is the son of B. B's sister C has a
son D and a daughter E. F is
maternal uncle of D, then how A is
relatedtoD ?

1) Cousin
2) Brother
3) Uncle

4) Father

In a certain code, 'PAGES' is
written as 'RDIHU' and "WRITE' is
written as YUKWG', then 'OTHER'

will be written as in same code :
1) QWJHT
2) QWH]T
3) QWHT]

4) QWTH]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

75. 'BRAKES' 9= & ORI &I )
qUHTCT & AR S 7 fhae oteri
® WM ¥ gRaaq 78 arm ?

1) 1 2) 2
3) 3 4) 4

76. TP, + &I, Q, — I, R, = H qATS, X &l

T BT &, A
18S36R12Q6PT7H HH 2 :
1) 115 2) 85
3) 55 4) 35
77. I /0.05x0.5xa =0.5x0.5x+/b
S B B C
b
1) 0.0025
2) 0.025
3) 0.25
4) 2.50

8. IR A T4 fRsw # AR B, q9 9® HL
% TS B M F 100° gH ST 5
g 98 145° W gl & fquda feem |
g9 ST 8, O oW A fRw Rem @
FRE?

1) S

2) T
3) TRU-qid=H

4) I3

[ Level-1/1101]

15.

16.

11.

18.

GET IT ON
Google Play

[19/A]

The position of how many letters in
'BRAKES'
unchanged when they are arranged
in English alphabetical order ?

1 2) 2

3) 3 4) 4

the word remain

If P stands for +, Q stands for —, R
stands for + and S stands for x, then
the value of

18S36R12Q6PTis:
1) 115 2) 85
3) 55 4) 35

If  /0.05x0.5xa =0.5x0.5x+/b,

then % is equal to:

1) 0.0025
2) 0.025
3) 0.25
4) 2.50

If A is facing east then he turn 100°
in the clockwise direction and then
again turn 145° in the anti-

clockwise direction. Which

direction A is facing now ?
1) North

2) East

3) South-West

4) North-East

P.T.O.
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[20/A]

79. IR y H x% b AW 100 AT z H
y% ® HM 200 B, @ x A z H
ey 8 -

1) z=x/2
2) z=3x
3) z=2x
4) z=4x

80. TH WM 7 aW ¥ Thals &N &l &<
d 3 W & SR 5, 9 a8 TR 27
T R ast § e (et & §HM
) ?
1) 18a9 H
2) 1999 H
3) 2099 H
4) 2199 H

81. UREE T« 2023 ¥ A wel i
@9 UeEh Sffqq drl gde  Jferr
gRa & e P § 2 7

1) X
2) g
3) STl

4) TEIM
82. sfamn & fham Sware ¥ ?

1) 95
2) 49
3) 143
4) 714

[ Level-1/1101]

19.

80.

8l1.

82.

GET IT ON
Google Play

If x% of y is 100 and y% of z is
200, then a relation between x and
zis:

1) z=x/2

2) z=3x

3) z=2x

4) z=4x

In how many years will a sum
become 27 times when it triples
itself in 7 years at compound
interest (when rates are same) ?

1) 18 years
2) 19years
3) 20years
4) 21 years

Palak Gulia, who won a Gold Medal
in the Asian Games 2023 in an
individual event, belongs to which
district of Haryana ?

1) TJhajjar

2) Jind

3) Ambala

4) Gurugram

How many Sub-Divisions are there in
Haryana ?

1) 95

2) 49

3) 143

4) 174


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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[21/A]
83. fIaicr fa@E Qﬁ’@f bl HEIT g 83. The headquarters of the Shivalik
Development Agencyisin:
1) e 1) Panchkula
2) ofTa | 2) Ambala
3) I g 3) Yamunanagar
4) FHHE ¥ 4) Kurukshetra
84. BRATT & I8 F&al, SN FHW IuHION 84. The town of Haryana, which is
3 fmr % e o= © famous for manufacturing of
agriculture instruments :
1) FAMK 1) Kalanaur
2) ST 2) Balaana
3) =l 3) Dadari
4) GHET 4) Samalkha
85. T T P HAE  : 85. The height of the Karoh Peak is :
1) 1400 HieX ¥ 3% 1) More than 1400 metre
2) 1500 HieX 9 3AH 2) More than 1500 metre
3) 1600 HleX ¥ 1® 3) More than 1600 metre
4) 1700 HieX ¥ i 4) More than 1700 metre
86. Fr=iviad # § fh@ ¥H a A 86. Who among the following Sufi Saints
g &= # fas Rt @ we established Chisti order in Haryana
B & ? region ?
1) e g SRETA bt 1) Mohammad Bakhtiar Kaki
2) ST BAIgEN 2) Baba Fariduddin
3) THIGEM Wegs 3) Nasiruddin Mahmud
4) g W 4) GesuDaraz

[ Level-1/1101] P.T.O.
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87. @mm & g Toguel d &
B G g9 & g o o ?

1) HER &R fg /R
2) A gy o el
3) 4 YeEN UdE

4) A 99 TS

88. sRAMM & JE RN, S T UEH™
S g ®
1) @
2) Siig

3) T&eIM
4) 9HIId

89. Ry Afew, FEm 18f & >
Siftm e § s # = @ T
wiUd foam
1) A UfeEe
2) o &&aT
3) So HH
4) S omg

90. RN, TH MHy-ov@dl el w,
sraferd ® ¢
1) ed® |
2) fear #
3) ®dTElE H
4) ITen H

81.

88.

89.

90.

GET IT ON
Google Play

Who among the following Governors
of Haryana was also a member of the
Constituent Assembly ?

1) Sardar Harcharan Singh Barar
2) Shri Jaisukh Lal Hathi
3) Shri Mahabir Prasad
4) Shri Babu Ramanand

The district of Haryana, where a
National Park is located :

1) Rewari
2) Jind
3) Gurugram

4) Sonipat

The Irish soldier, who established his
own Kingdom in Haryana in the last
decade of 18th Century :

1) Charles Eliot

2) R.Hudson

3) J. Thomas

4) George Thomas

Bhirrana, an Indus — Saraswati valley
site is located in :

1) Rohtak

2) Hisar

3) Fatehabad
4) Ambala

[ Level-1/1101]
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Direction : Answer the following questions by selecting the most appropriate option.

GET IT ON
Google Play

[23/A]

91.

Rfeer B & @ W AW
(Ruler) 3iR Iaw & Hemar & B
IIYT T B FEdl ol B T I
R (MeFR) & agyst & Fon A
A H, TAb GGG & BN B AT
I HB FE ol BF T A © 16
TA% TgYST B BN B AT AT
360° A1 I 360° B I8 IaTe Y
fRreror-fafr 1 et B ?

1) gEHIr oty
2) Rerm-aiEa O
3) Trm-TH® fafy

4) SFHATAS fafy

91.

A teacher tells her students to
draw a few quadrilaterals using a
ruler and pencil on a sheet of
paper. She tells them to find the
sum of their angles by measuring
each angle with a protractor and
note it down. The students realize
that the sum of angles is close to
360° or 360° in each case. This is
an example of which approach of

teaching ?

1) Generalization

2) Teacher-Centric approach
3) Deductive approach

4) Inductive approach

% & % oW e / Space For Rough Work

[ Level-1/1101]

P.T.O.
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92. TH BNy FrEedl dWf o TR F,
F AR 44/3 A R 3@ B
%l GRAT 1 B ?

1) 1099 2) 123
3) 1439 4) 1634

3 5
93. ==+, y=383+[(4+5)+
qeT x 1 6,}’ 3+[(4+5)=6],

z=[3+(4+5)]+6 I w = 3 + 4
(5+6), A :

1) x R w TR &
2) T SER 2

3) x 3R y TR B
4) x A z TN B

94. qﬁ 9n X32 X{(S)—n/Z}—Z _(27)n _ i
33m » 23 27

A m-n F TF AT DI :

1) -2 2) 1

3) -1 4) 2

92.

93.

94.

GET IT ON
Google Play

A triangle with three equal sides
has its area equal to 43 square
cm. What will be the perimeter of
this triangle ?
1) 10cm 2) 12cm
3) l4cm 4) 16cm
3.5
If x=—+—,y=3+[(4+5)+6],
rRd [(4~+3)~6]
z=[3+(4+5)]+6 and w = 3 + 4
(5 +6), then:
1) xand w are equal.
2) All are equal.

3) xand y are equal.

4) xand z are equal.

Find the wvalue of m - n, if

gnr X32 X{(s)—n/Z}—Z —(27)n _L
3%m x 28 27

1) -2 2) 1

3) -1 4) 2

% & % oW e / Space For Rough Work

[ Level-1/1101]
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95.

96.

T 9eld U Uh ALAMUH 36 HU
W g & : ‘A @ fAfard B R
T Y R

1) BeN & fu A oTasgs ey
Bl

2) A B & [T B IEWE Ny
Bl

3) BEN % [T A I gfsee 2l

4) BaM & fow A afEsgs ol
i SfEee QN B

e el der § & 35 T fAr S,
@ a& 80% & Wl B €& @

(%jaﬁ AT ;T ?
1) 70
2) 90
3) 120

4) 140

95.

96.

GET IT ON
Google Play

[25/A]

While
teacher arrives at a statement : "A

teaching mathematics, a

implies B". This means :

1) A is a necessary condition for
B.

2) B is a necessary condition for
A

3) A is sufficient condition for B.

4) A is
sufficient condition for B.

both necessary and

If 35 is subtracted from a number,

reduces to its 80%. What is (%) th

of that number ?
1) 10

2) 90

3) 120

4) 140

% & % oW e / Space For Rough Work

[ Level-1/1101]

P.T.O.
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97. IR fHdl fEmdl & sy & wEal

W NG U & & § Hiows
gl 3, a f=fofeg & | fre fafy
%l f31e76 @l AT ARy ?

1) foEnet @ cfeg & aife ae
T | e

2) faemelt # g A & fog we

3) dgHadl Hied X e g &
SEM & = s mma &
e o ST T H
feremelt @t TR HE

4) femeft @ '@ B T aHERl &
WO H WHIZ § GHT T
% foT ol 39 9Ol &1 STgEEn
T J6R & st § a4 @
feTe e

917.

GET IT ON
Google Play

If a student finds difficulty in
applying geometrical theorems to
solve a given problem in
geometry, then which is the most
appropriate strategy that the

teacher should adopt ?

1) Punish the student so that
he/she does not repeat the

mistake.

2) Ask the

memorise the theorem.

student to rote

3) Use multisensory models and
teaching aids to help student
understand various theorems

and their applications.

4) Tell the student to copy the
steps of solved problems from
the blackboard and apply the

method for similar problems.

% & % oW e / Space For Rough Work

[ Level-1/1101]
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98. 15 Hiex 17 I @= X 9
28 AT T PR B B B
FE B [T TEATH FNHR <zl Bl
AqH deE e o

X
RER?

1) 8l4
2) 820
3) 840

4) 841

99. ABCD Wh ©HagYs @, for@d
Z/BAC = 50° 8, @9 34D - 2 /DAC
SR R

1) 120°
2) 140°
3) 150°

4) 160°

GET IT ON
Google Play

[27/A]

98. What is the least number of square
tiles required to pave the floor of a
room 15 m 17 cm long and 9 m
2 cm broad ?

1) 8l4
2) 820
3) 840

4) 841

99. ABCD is a rhombus in which
/BAC = 50°, then 34D -2 ZDAC is

equal to :

1) 120°

2) 140°

3) 150°

4) 160°

% & % oW e / Space For Rough Work

[ Level-1/1101]

P.T.O.
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100. IR 10 & B A T 99 A @@

101.

TEg B ABC RN ST @, af
B9 ABC & T& 9o &l T ©

1) 10399
2) 1043 @
3) 102 &

4) %@ﬁr

Uh R® T AR HES hl
Iqq-Uqa BouEuel § dedr § @R
3% A TN & foq WREd e
T U TH A T, S e
T FA B ql Bl A ol

1) 9 & IR
2) g9 % &% B YA

3) A Pl I

4) U B AFT § BIRY

100.

101.

GET IT ON
Google Play

If one equilateral triangle ABC is
made in a circle of radius 10 cm,
then the length of a side of triangle
ABCis:

1) 10cm
2) 1043 cm

3) 1042 cm

4) Ecm

73

A teacher cuts a circular paper
into thin sectors and aligns them to
form rectangle. This is an activity
to illustrate a way to derive ......... .

1) Circumference of the circle
2) Formula for area of the circle
3) Diameter of the circle

4) Transformation of circle to
rectangle

% & % oW e / Space For Rough Work

[ Level-1/1101]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

102. F=fafag & @ @F-@ M

SRARTSNT 1 g9 787 &l gl ?

1) T fee-aftem @ & S
W BE1 H MR STaEemedt
& T § HEFdr

2) BE ® MG B GET B FAX
% [T T w G e

3) BEl &I UG SIRFM & Ui B
3R SeETE B

4) W, RREl iR fest (dfew) &

103. 3% a-1=v21, 5@ a > 0, @
a

(a2+izj[a+lj P AN ©

a a

1) 113 2) 118

3) 114 4) 110

102.

103.

GET IT ON
Google Play

[29/A]

Which of the following may not be a
purpose of Mathematics Lab ?

1) To help students comprehend

mathematical concepts
effectively by utilizing
concrete teaching learning
material.

2) To give space for students to
prepare for mathematical test.

3) To enhance their interest and
motivation in learning
mathematics.

4) To conduct activities focussed
at mathematical problem
solving using games, puzzles
and models.

Ifa—l:\/ﬁ, where a > 0, then
a

the value of (az +L] (a +l] is
a? a

equal to :
1) 113 2) 115

3) 114 4) 110

% & % oW e / Space For Rough Work

[ Level-1/1101]

P.T.O.
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104.

105.

Teh O AT H eld gU HEATh
Fedl &, ‘A Tlb & TS Ao
(GrerT) 98 €@edr ® S 6 aml Ry
Tq QUTteRl @l fawior &t 81”7 @ ¥
R Th

1) T
2) qRwm
3) wWilt=
4) THI G

J&o 15, 50, 120, 6, 80, 100, 10, 8,
10, 15, 15 & URER, g @R
HIfeTeRT & HIe B

1) 48
2) 39
3) 52

4) 51

104.

105.

GET IT ON
Google Play

While teaching in a mathematics

class, a teacher gives the
statement "Common Divisor of two
which

divides both the given integers".

integers is a number

The statementis a:
1) Proposition

2) Definition

3) Axiom

4) Open Sentence

The mean of the range, mode and
median of the observations 15, 50,

120, 6, 80, 100, 10, 8, 10, 15, 15 s :
1) 48
2) 39
3) 52

4) 51

% & % oW e / Space For Rough Work

[ Level-1/1101]
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106. “T@, T W & W H FaRed
FH F/AAN B TH qGH 87, T8
R & E R

1) % g
2) NeifeEr =
3) N
4) 9O &N
107. 1dﬂ%{4m2+10mn—8m+911z—12n

=(am + bn) (am + bn - 4), ar
a’+b H AN ¥ :

1) 13
2) 25
3) 35

4) 10

106.

1017.

GET IT ON
Google Play

[31/A]

The definition "Mathematics is a
way to settle in the mind, a habit of

reasoning" is given by :
1) Locke

2) Galileo

3) Bruner

4) Napoleon

If 4m° + 10mn — 8m + 9n° — 12n
= (am + bn) (am + bn — 4), then the

value ofa’ + b’ is:
1) 13
2) 25
3) 35

4) 10

% & % oW e / Space For Rough Work

[ Level-1/1101]

P.T.O.
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108

109.

. Pl & & #F-a e g
% Hed § 9l 78 o °

1) ¥ 3B Miea TR a & aR
¥ T % AT B9

2) I T w9 § R fear S
ol 2

3) fhEl ft T A S FA W
THAE I BT Bl

4) v Y W AYAN
(Conjectures) &ed 2l

TR ST T HIF-TT qiH 598 o
T ST<sT B 7

1) Pad HEAT IGHT IAT & T

2) el @« e emaet @
fopfd &1 & T dieied &

3) Faq T IGHC I X HIAT

4) = Emi B el e 9 qe

GET IT ON
Google Play

108. Which of the following is not true

109.

about a mathematical theorem ?
1) They are generalized
truth
certain mathematical facts.
2) They
mathematically.

statements of about

can be proved

3) There is only one way to prove
any theorem.

4) Unproved theorems are called
conjectures.

Which among the following is the

best pedagogical way to teach

mathematics ?

1) Find the weakness and teach
only those parts

2) Motivate the
develop

learners to

their existing
capabilities

3) Find the gaps and address
only them

4) Teach every student with the
same approach

% & % oW e / Space For Rough Work
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110. 58l TEgUF d@T & SMER H 110. The perimeter of the base of a

o 44 9 R e m 8 o ® right circular cylinder is 44 cm

T 3 3. ’ and its height is 8 cm. Then,

5_;:[2 st A & - volume of the cylinder is :
(n:7 dfifere ) (Taken:%)
3 3

1) 12128F 2) 1232 @ ) 1212cm®  2) 1232 cm’

3) 14128%° 4) 143239° 3) 1412cm’® 4) 1432cm’
111. ¥FT y = 597 x 107 + 73.5 x 10*, 51 111. Let y = 597 x 10% + 73.5 x 107"

y & ANE €9 6.0435 x 10" § FE When y is expressed in standard

fpar ST, & n AW T form as 6.0435 x 10", then the

value of nis:

1) 22 2) 23 1) 22 2) 23

3) 24 4 21 3) 24 4 21
112. IR x* + x- 12 R 25" —ax - 9 & 112. If (x — a) is the HCF of ¥ + x — 12

HoHoYo (x—a)el, Al 'a' & AW T and 2%° — ax — 9, then the value of

'a'is:
1) 3 2) -3 1) 3 2) -3
3) —4 4 4 3) —4 4 4

% & % oW e / Space For Rough Work
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113

114.

. gomelt 24 36, 25 {7 oMY 7 FH A
T B[S @1 & 14 9 TR A
T ARG F A% & UK ©, 9
SE I H URAN ©

1) 2039
3) 369

2) 183
4) 409

AR (Axiom) & faw fr=faRad
4§ H-91 T@ie S 7

1) ARFRENR B dSig qdarpe
¥ Hefd Fuw B g

2) SR | & W T B o
e S a1 As Sel A S
el B

3) SRR e § S WY & A
B &l
4) IRFER Paa gRemE & ¥

113.

114.

GET IT ON
Google Play

Area of triangle of sides 24 cm,
25cm and 7 cm is equal to the
area of a rectangle of length
14 cm, then perimeter of the

rectangle is :

1) 20cm 2) 18cm

3) 36cm 4) 40cm
Which of the following is most

appropriate for an axiom ?

1) These are statements about

algebraic identities.

2) These are mathematical truths
which cannot be proved or

disproved.

3) Axioms are  propositions

similar to theorem.

4) Axioms are only definitions.

% & % oW e / Space For Rough Work
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116.

1117.

AR B T 3:2 % U 7 8
AR ITH FF 5 : 3 B U F
I A% 2500 Fo T B, @ B &
R

1) 8000 %o 2) 17500 %o

3) 830080  4) 7000 %o

20 TG H BT TA x aGA &
fepa 9 % R Bl ARk @9 25%
g, W x F AR Q

1) 15 2) 16

3) 18 4) 25

AL TH TGYT & a9 BT 180°
%9 B, A a8 TgYS © ¢

1) SO =g

2) S =AY
3) AR TGS
4) |quTE TGy

115.

116.

1117.
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[35/A]

The income of A and B are in the
ratio of 3 : 2 and their expenditure
in the ratio of 5 : 3. If each saves
Rs. 2500, then the expenditure of B
is :

1) Rs. 8000 2) Rs. 7500

3) Rs.8500  4) Rs.7000

Cost price of 20 articles is equal to

selling price of x articles. If the

profit is 25%, then the value of x is :
1) 18 2) 16

3) 18 4) 25

If all the angles of a quadrilateral
than 180°, then the
quadrilateralis a:

are less

1) Convex quadrilateral
2) Concave quadrilateral
3) Parallelogram

4) Trapezium

% & % oW e / Space For Rough Work
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118. 3 §&RI a 3T b & HogoYo 3K 118. The HCF and LCM of two numbers
dAogoJo HH: 6 SN 210 & IR a and b are 1’especti\i'e1')r1 6 and
a+b=72 a Lilo 210.1fa+ b =72, then —+_-=

a b
1 3
1 3 1) — 2) —
1) — 2) —
) 35 ) 35 35 35
5 2
5 2 3 — 4 =
3) — 4) —
) 37 ) 35 37 35
X ay - 1 1 1 P — 1 1 1
119. IR’ 2"=8"=(10)", A —+—+-= 119. 1f2*=8"=(10)" then —+—+- =
X y z X y z
1 1
1) — 2) 0 1) — 2) 0
) 32 ) ) 33 )
1 1 1 1
3) — 4) — 3) — 4) —
) 16 ) 48 ) 16 ) 48

120. 10% TH’@?;'T P A R 120. The mean of the factors of 10 is :
1) 4 2) 4.5 1) 4 2) 4.5
3) 5 4) 5.5 3) 5 4) 5.5

% & % oW e / Space For Rough Work
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fraer : fefofad gl & SR 39 & e @98 S fase g

Direction : Answer the following questions by selecting the most appropriate option.

121.

122.

123.

gw—aaﬂwaﬂm—a%qﬁwiﬁw
HiH P9

e faeTf¥¥ B,, By, Bs, Bi2
ElRll Hfeaam

PeleEge St

fereTfo T ()

CIEE RIS

HEH-g § B9-a g HeEw-or §
‘g ¥ 99 @l § 7

1) faerf¥= By, By, Bg, B

2) dfeaaw

3) el

4) T ()

ag @ fefied § § -4 69°F
qigAved H He9 91 A6 AkE © 7
1) EgeH

2) St

3) Siard

4) FHET SEAFAES

S Qe AR I8drs  TEid
R 1 M FA & A EVS &
Bi-q Qe gemr ge@ g
g7

1) SHEAN-IAERA e

2) fRreres Sied gieshior

3) SrgeaTeT® fe oY ==

4) A TET

[ Level-1/1101]

121.

122.

123.

Consider the terms in Column-A
and Column-B :

Column-A Column-B
Protein Vitamin B;, By, Bg, Bis
Sugar Calcium
Carbohydrates Energy

Vitamins Pulses (Dal)
Minerals Glucose

What definition in Column-B

corresponds to 'Minerals' in
Column-A ?

1) Vitamin By, By, Bg, B,

2) Calcium

3) Energy

4) Pulses (Dal)

Which of the following components
of air is present in the largest
amount in the atmosphere ?

1) Nitrogen

2) Oxygen

3) Water vapour

4) Carbon dioxide

Which teaching approach is most
effective in EVS to encourage
critical thinking and Inquiry based
learning ?

1) Lecture-based instruction

2) Teacher centered approach

3) Experimental learning and
discussions
4) Standardized testing
P.T.O.
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124.

125.

126.

EVS Jd-@ Taafy § SHl dhbadn

ghfted & & ol Ries & w®n

& TR ?

1) BEl & & AR M W
I UAG ST

2) BRI & AT B & [T T
FoRR P F&M BN

3) BE @ faf e e
AR o folg wd v @
Al &

4) BEl F GHT T F G a4 9

gdicaned &l

frfafag & § H-ar foafte 6
SR o fRafy ¥ 98 &1 /A9 78
G 8, S 39 WP A BH B |
TEE BT GHal © 7

1) fafE c - @

2) fqaf= D - Reca

3) fefe A - Wi

4) e K - &g

F3 AU REgd §E99 FHR W HE

;%%ﬁ%waﬂﬁw@aﬁﬁaﬁ

7

1) Sieaed a9 & Sod d 8N a
arg 9T & FHH HA

2) fogg uwor @ @ § AR
N

3) foomir S@rd H UMl @l
STEAHAT BN HH BTN

4) FHIA AT UgilgH w1 SAES
AN ¥ URae &
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In an EVS role-play activity, what
should teachers do to ensure its
success ?

1) Overdirect

and decisions.

students' actions
2) Provide a rigid script for
students to follow.

3) Allow
various roles and make their

students to explore

own decisions.

4) Discourage students from

participating actively.

Which of the following vitamins is
not correctly matched with a
disease or condition that can help
to prevent or alleviate it ?

1) Vitamin C - Scurvy

2) Vitamin D - Rickets

3) Vitamin A - Night Blindness

4) Vitamin K - Tuberculosis

Why are many thermal power
plants typically set up near coal or
oil fields ?

1) To reduce air pollution from
burning of fossil fuels.

2) To improve the efficiency of
electricity transmission.

3) To minimize the need of water
in power generation.

4) To transport coal or petroleum
more easily.
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128.

129.

frffeg § § aF-d1 9 SRR
%’(W@IWW@IW & &t
?

1) A
2) MR
3) wiRE  dferr

4) wgs

4) THS AR AR H A TS TR
BRI Ufcrpia &l

fasg & o X S Hew™@ 3 IR #
SRR d] go™ X Sig I M & fod
21 UE @ HN-HT TGO SISl
fees A+ ST ® ?

1) fa9a qaEreT aq
2) fasg Jeqve fiaq
3) U@ el &a|
4) 499 991 Rew
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Which of the following material is
not typically derived from wood
obtained from forests ?

1) Paper

2) Thermocol
3) Matchsticks
4) Plywood

If you wuse the property of

magnetic attraction to classify

objects, what would be the result
for Wooden and Iron tables ?

1) Both Wooden and Iron tables
would belong to the same
group.

2) The Wooden table would be
attracted, while the Iron table
would not.

3) The Wooden and Iron tables
would belong to different
groups.

4) Both Wooden and Iron tables
would be repelled by the
magnet.

Which environmental awareness
day is observed on March 21st to
celebrate and raise awareness
about the World's Forest and their
significance ?

1) World Environment Day

2) World Wetland Day

3) Bhopal Tragedy Day

4) World Forest Day

P.T.O.
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130.

131.

132.

W @ % IR H U 99d

diEe &l Uishar § Fergdfa F i
Fret B

1) @eggd EVS Rewr & @
Iyt TEl B

2) WeYld wEeReiy  gHers &
Er@ﬁ%ﬁraawﬁmmsmﬁ

3) W@ﬁﬁmﬁqﬁqﬂiﬂ@mﬁ
Flaed &l 8

4) i geal 7 a4 Raars &
e ® wEM & W@
SRR (SRCICERC ]

frfofag & § ®9-91 T & A
I Hdl d ged § “iRan & 9e”
P FIURET § G o Fepear 9
e © 7
1) &

3) W

i &=t §  ofadg weialy

A IR e @ M &

3 fod R EVS REwr & 33 o

T & 7

1) TR (e & o el & [l
SUGEHT GO BT ST Hiwh|

2) UCEHH H RERAr TR WA &
R &g Taaet @ R B

2)
4) FHa

gl
3) WEed gzal § BE &l WA
T, %9 ATIT H MHA B

4) &g el ARt W = |
ECERy
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While teaching about environmental

conservation, what role does

empathy play in the learning

process ?

1) Empathy is not relevant to EVS
teaching.

2) Empathy hinders objective
analysis of environmental

problems.

3) Empathy discourages students
from taking action.

4) Empathy is essential for
understanding the perspectives
of all stakeholders in
environmental issues.

Which of the following source of
water is most likely to be closely
related to the concept of a "Family
Member" in terms of water sources ?

1) River 2) Pond
3) Sea 4) Well
How can teachers adapt EVS

teaching to address the unique

environmental challenges and

opportunities in different regions ?

1) By using fit for all approach to
Environmental education.

2) By ignoring regional
differences to maintain
comnsistency in curriculum.

3) By incorporating local context,
case studies, and involving
students in local environmental

issues.

4) By avoiding discussions on
regional environmental
concerns.
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133

134.

135.

136.

. B Rafy @ R oot @ A g

g, -9 INH MO B g9

Tt gefed & § 7

1) 99 & HROT B dml qEEs
&fer

2) Wq § Holl Wb § ST
3) UrENfn B
4) Holl BHT T STIAEA

qel, IR AR gEial & |
yeTfedl  @fed gel W oSflad @l
fafererar @t @ %er S § ?

1) g fafgear

2) URRefa® a

3) Sary RddH

ol WFA & &9 Saed HEe
feie T o b ad & far mar o ?

1) 1924 2)
3) 1956 4)

1942
1842

FE P STAIRON B aH oEd F

%Y AR A ST T § 7

1) 39 1 X X <L [ 9l I
TgE iR TUEE Uh ol e
Bl

2) fafy=1 ais/pt @t @9 oiR @mEm
FH AR AN d Ao ket
N TN Bl

3) @M H WHL BN AW TSl 9
FEq & fog oRar R A= B
ey Gl T G

4) 9oW faeed ¥ wigis ol
ﬁ fofgearel @1 oReta

|
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When choosing a source of energy
for a given situation, which factors
influence the decision most ?

1) The environmental damage
caused by the source

2) The ease of extracting energy
from source

3) The technology's efficiency

4) The economics of energy
extraction

What is the term for the variety of
life on Earth, including all species
of plants, animals and micro
organisms ?

1) Biodiversity

2) Ecosystem

3) Climate Change

4) Pollution

Ten Percent Law of energy
transfer was given by Linderman
in the year :

1) 1924 2) 1942
3) 1956 4) 1842
How can the concept of
appreciating different food

preferences be applied in daily

life to promote harmony and

understanding ?

1) By insisting that everyone
should have same likes and
dislikes.

2) By exploring and sharing
different cuisines and
respecting other food choices.

3) By not eating with family
friends to avoid conflicts over
food.

4) By ignoring cultural and
regional variations in food
choices.

P.T.O.
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137. P TG 0 99 9 ﬂ\’rl'{%f qqg 137. What is the primary sensory
aftd ot dadl SRMEREE] g7 experience described  when
moving through the thick forest on
the way to school ?
D) a??[ 9 BIRT S oo T 1) Bright sunlight filtering
through the trees
2) fomr el FI'@&I?F G¥ & T’T 2) Complete silence with no
a9 natural sounds
3) T 3 - T @ aeEee 3) The rustling of Ileaves
underfoot
4) = ol ok witEl @ 4) The sounds of various birds
S and creatures

138. TSt H U5 S Al AgiA &l 138. What are the main categories of

RS Afrar o & ? impurities found in sewerage ?

1) SR AR aERE 1) Bacteria and viruses

2) FHeh A STHTSD GT%IW 2) Organic and inorganic

impurities

3) g AR A Tared 3) Solid and liquid material

4) 99 AR @i 4) Salts and minerals

139. EVS &9 % @< § A9 @ andd 139. In the context of EVS teaching,

FME? what does scaffolding refer to ?

1) 1) T R [ | S I | B A e 1) Providing excessive help to
S students.

2) J9-I] B BN IR FN 2) Gradually reducing support as
B %, e dR-gX g students gain skills and
S 2 knowledge.

3) fruifa qIeashy &l FORAT | 3) Rigidly adhering to a set
RINEECAGII curriculum.

4) BRI H b AR ST 4) Isolating students from their
CAGII peers.

[ Level-1/1101]
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140. NEP 2020, EVS [ # qegishd

141.

142.

faferat B B9 yfad wear & °

1) ¥ fOAY Y | AFbIGT G

R HC B

2) ¥& TEERCNE RN % AR H
BRI W WA W AW F [T
%‘ITH@FE qFiET B FeEl adl
|

3) & EVS Rmor & fpdl ff 5K
% YA Il edldied Il 8|

1) @ glamet 7% qgd
2) WIS STR% HNH
3) Sarg UReds & g
4) Tkl ST

I H ST e @ R ?

1) S S H T AR SURdcHE
T ol

2) 9@ & i &9 g oiR FE iaw
3 1 eTaE® B

3) UMl a9 AREAl o FAl H
G5 Gl

4) UMl 9EF T | WA | gui @
HROT ST B
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NEP 2020,
method in

impact
assessment EVS
teaching ?

) It enforces standardised

assessment exclusively.

2) It promotes authentic
assessments to gauge students
understanding of environmental
concepts.

3) It discourages any form of
assessment in EVS teaching.

4) It focused on memorization
based assessment.

In the context of unequal food
distribution, which issue is most
likely to be discussed when
comparing wellfed children with
those suffering from malnutrition,
disease and hunger ?

1) Access to healthcare facilities
2) Socioeconomic factors
3) Climate change impacts

4) Technological advancements

What is the unique feature about
water ?

1) Water is salient and
unchanging element of nature.

2) Water has various forms and
essential for life.

3) Water is only present in rivers

and waterfalls.
4) Water primarily causes
misfortune in the world.
P.T.O.
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143

144.

145.

. T iR o H

(i) ot H YA€ Th RMESH A B
(i) ARl F YA UH R o @
(iii) TR 1 YA a6 B §

(iv) St T JaT8 Tehig BT B
1) ()T (ii) 2) (i) T (iii)
3) MHT@Ev) 4) (i) T (i)

EVS feer & &5 guor o) e
Tiafafeet &1 @ e 7 7

1) dib® FAd & HROT ST
ST el & SR B

2) 3 BEl H ACENG FIHT AR
WX oEgRenstt  # Tl
Y JEN HXA B

3) 3¢ quI<as =Tl db & Hid
@I ST =ty

4) I Fad SWq ERR & R
SyERT B

3) H1g, A AR AHS! H FIER
4) TRl # SuRaaHE aRads
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In an ecosystem :

(i) the flow of energy is
unidirectional.

(ii) the flow of materials is
unidirectional.

(iii) the flow of materials is cyclic.
(iv) the flow of energy is cyclic.
1) (i) and (i) 2) (i) and (iii)
3) () and (iv) 4) (1) and (iii)

What is the significance of field
visits and practical activities in
EVS teaching ?

1) They are not recommended
due to logical challenges.

2) They provide students with
hands-on-experiences and a
deeper understanding of
environmental concepts.

3) They should be limited to
theoretical discussions.

4) They are only useful for
advanced learners.

What concept is introduced in
relation to natural processes such
as cloud formation, rain and the
creation of fresh water from saline
water ?

1) Oxidation and  reduction
reactions
2) Saturation and super-

saturation of solutions

3) The behaviour of metals, glass
and wood

4) The irreversible changes in
substances
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146. R EVS Remr & w@Rst a9 o)

gfteor B T W9 q BA THHT
P T © 7

141.

1)

2)

3)

4)

TRy fEoET § Theudn & o

TRt gftepior i & Fbl

dEd & IgHd B 998 0 &
oy wesht o9, dicgios e
AR el @ abE w9 9
g SR Thigd e |

T g0 & deih grehol &l
G99 ®9 ¥ TrItHeRdr avl

fafaaar &1 99 & & W™
AT B Sl ahad Bl

EVS # UoFEEl Rem @& gge

foara =g & @ a9-ar 8 °?

1)
2)

3)

4)

{3181 i 1TETT
e & e § SR 8= @t

ftrent
THEl gEEN iR oram e H
qish G

(Y Jqi& ]
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146. How can teachers inclusively

141.

integrate indigenous knowledge and

perspectives into EVS teaching ?

1) By neglecting indigenous view
points for uniformly in

curriculum design.

2) By proactive seeking and
integrating indigenous
knowledge, cultural practices,
and perspectives to enrich the

learning experiences.

3) By exclusively prioritizing
mainstream scientific

perspectives.

4) By advocating assimilation

instead of respecting diversity.

Which of the following is a key
principle of constructivist teaching
in EVS ?

1) Teacher centered learning

2) Passive student role in

learning process

3) Active engagement in problem

solving and exploration

4) Rote memorization

P.T.O.
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148.

149.

150.

Freifafad & & @-a1 9 9a &
211 S TS| B e R 1R

3 9T S B P

1) 3
2) TEEN
3) TR
4) 3

NEP 2020 & §=<+ # EVS fwer
STIHETe e & F g § 7

1) EVS R § argwarcis Rem &
rdTed fRar ST B

2) gHaHDh e e fas fereE
% 8 R Bl

3) SgHarHD freM I Sieenied e
STl & R ¥8 EVS R &
AR T B

4) 9T e wen H ocEi I
2 HifHa Bl

15 S B L o R e e | o R
g eefag & 9 eF-a stsg
g s T § °

1) R

2) g

3) gfte

4) @7
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Which of the following is not
derived from an animal source and
is considered a plant based
product ?

1) Milk
2) Soyabean
3) Paneer

4) Eggs

In the context of NEP 2020, what is

the role of experiential learning in

EVS teaching ?

1) Experiential learning is
discouraged in EVS teaching.

2) Experiential learning is only
relevant for science subjects.

3) Experiential learning is
encouraged and integral to
EVS teaching.

4) Experiential learning is limited
to classroom discussions.

While identifying features of
leaves, which of the following
senses is most relevant ?

1) Hearing
2) Smell
3) Sight
4) Taste

[ Level-1/1101]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

% %4 3 T [FOR ROUGH WORK]

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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